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General Instructions::
ng i ] lly and follow them :
low:in, instructions carefu : |
Readichs for ow contains 37 questions. All questions are compulsor.y-
A, B, C; D’

: his question paper ; ; ;
@) Thisq divided into six sections — Section

(ii)  Question paper is
e Choice type questions. Each

and F. ;
(i) Section A - Questions no. 1 to 20 are Multipl
- question carries 1 mark. : '
to 24 are Very Short Answer type questwn-;

Questions no. 21

rries 2 marks. Answer {o these ,qge;qtgg‘ns should not exceé

(iv) Section B -
Each question ca
Short Answer type duestions. Each

40 words.
) Section C - Questions no. 25 to 29 arc :
question carries 3 marks. Answer to these questions should not excee
60 words. - 7
(vi) Section D— Questions’no.*:'?o,{ia,iﬁ?are Long Answer (LA) type questions. E: ach
: . Answer to these queilsi?,iO'ésii&?ﬁglfld not  exceed

question. carries 5 - marks.
2 : .%.‘ nfu;m | I

— Questions no. 34 to 36 are Case /Source-based questions with three

question carries 4 marks. ‘ ;

'-‘7; (35‘[9 Section F.— Question no. 37 is Map skill-based: questio
37(a) from History (2 marks) and 37(b) from Geography (3

nestion carries total 5§ marks. _
has been provided for

““In addition to this, NO’.’_"E that a separate question
Visually Impaired can'tes;“f_:,.‘l_iéu of questions having visual ‘inputs,

n xwith‘ two parts —
marks). This

map etc. Such questions are to be attempted by Visually Impaired candidates
only. R i : '
SECTION A
AR (Multiple Choice Quesﬂggons) _ (20x1=20)
1.  Arrange the following historical events in.ygl{xji‘gpological order and choose
the correct option : - | ; 1
} S AR o
| 1. Bardoli Satyagraha -
.' II. Rowlatt Satyéiéfi‘ T:1 T O
III. Champaran Satyagraha

IV. Kheda Satyagraha

Options : i
A LILIIL IV
© ILLIV,II
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I, 10, 1, IV
1M1, IV, 11, 1
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2.

Which among the following newspapers is related to Bal Gangadhar

Tilak ? 1
(d) Hindustan R |
(B) Bangla Patrika .
F (c) Veer Bhoomi i , 4
(D) Kesari WP LT
e “'-.' AR »‘5_; A
g, In reference to the Germania allegory the ohve branch around ‘the

sword” symbolizes which one of the followmg ? i
(A) Bemg freed 4 P
B) Hemlsm and strength

C) N Will ;f ness to make peace
)  Beginning of a new era

0,

“f. - erica in the later half of the S1xteenth century“? 3 ‘ 1 i
| Cholera -1';7".?! I'::":' ] .1.“:': A TR z :
Smallpox o
Jaundice z A LA) () ‘
B @ 1 i

Malaria

" L {5 fBB (1) 751 .3 BT (A
¢ ‘\U:_g D omca, along with her faﬁly, clears a plece of land and grows
grair “and other food crops to fee her fam11y.,ﬂWhen the; soﬂ’stfertlh :

decreases, she prepares another; piece e of land—zforiagrl ult re. V ch oflih.
the ollowmg methods of agriculture does sheuse ? i 1

'
]
-

antation farming
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Column II and choose the correct option :

£
Lif

6 Match Column I with

Column I Column II
5 Sariska Wildlife Sanctua i. Uttarakhand
p. Manas Tiger Reserv . Rajasthan
c. Periyar Tiger Reserv ijii. Assam .
d. Corbett National Par v. Kerala Cb ..

0ptxons : ' Fe S Sy
(A) adi, b, c-iii, d-iv '
Gl 7 o L D

By~ a-ii, bdii, c-iv, d-i
(C) a-div, b, c-iii, d-ii

(D) a-ii, b, c-iv, d-iii

‘Most o the jute industry in Ind1a is 1
" belt along the banks of Hugh nver.

India is the second*largest e:f?porter of _]ute

n»..»

4

rue and (R) is the correct explanatlon

‘ :

Both (A) and (R) are t

of (A).
Both (A) and (R) are true, but (R) is not the correct explanatlon of

[ ‘ hoose the correct option to ﬁll in th v

The process of removing bameréonforelgn trade and mvestment by the

_ f‘i"')" T ent is known as ‘ T "'.
Opt ons e oy
(A) ImportTax o

(B) Export Tax

(C) Liberalisation

Ind "‘lfﬁi
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Identify the odd one out. '
> (A) Hindustan Computers Limited »
(B) Bharti Airtel Limited 4 -
F () Hindustan Unilever Limited 13 a ) v
| (D) Bharat Heavy Electricglg Plnnted FRE LT

10. By which organization ig th’égi;-hi% : ‘n Dexe&gﬂpgétﬁepqrt gublished 2 1
(A) World Trade Organisation s Y ¢
(B)  Amnesty International ;
(C)  United Nations Development, Programme =
(D)  World Health Organisation

I the formal sector ? Read the f?u‘%‘f}_?_g Y
- []

| P Availability of Banks

Availability of Collateral

; Long and Complicated Loan Plfes;j'

IV. Awareness of Borrower .
‘Options :

(4)  OnlyT, I and/ T are

(©  Onlyl, IlandiViare c

Only IT, ITI and IV are correct.
(D) Only L IIT and IV are correct.

5 4
-
g

i
" »
¢

lentify the sector on basis of the fo
Correct option : :

®  The objective of this sector is to e
This sector is owned by a '

o

it e
U "'A

ng Chafactex_'istics and choose the

arn profit,
Person or company.,

n d Steel is a example of this sector. Tl
Options: :

(A) " Cooperative Sec o ?
B (B) Unorganised Sector
V- Publ-ic DEC } y

CIivate Sector

il
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i Data related to an imaginary country is given below. Study these data ,
5 and answer the question that follows : Lz T
Age Total Population | Net Attendance 3
mears of age 1200 1000
14 and 15 years of age 1000 5t |t 800
Total 2200 | 1800
ey IR P )
The attendance percentage of this country 0?* Ag gr p of 14 and
15yearsis . b 75
(A) 90 percent (B) 80 percent
(C) T70percent (D) 60 percent
. | i
14. T \wo statements are glven below They are A‘grtmn (A) and Reason (R)

Read | oth the statements and choose the correct option : 1
Assertion (4) : Every party in India has to reglster with the Election

TR

p Commission. L PP
Reason (R) : The Government provides electlon symbols to all political
p— parties in IndJa

Options :
(A)  Both (A) and (R)lare true

~ (B) _Botk (A A) and d (R) are true, but (R-) 1S 7 '. the correct ex;planatlon of (A).

)!'l 17
I

( # is true, but (R) is false. 5 -'_‘ T

(A _18 false, but (R) is true.

: i Wh1ch of the followmg BToup is in majority in Sri Lanka ?

B (A)  Tamil- speakers e

i
!

- Smhala-speake;'s

Hﬂ‘m ’.

; v N
*SUUCAK e
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16. To reform the party system, which of the following tagks have been made
compulsory for the political parties ? Choose the most appropriate option.

L. It is now compulsory for all the political parties to file income tax
returns. . |

II. It is now cbmpulsory for all parties
candidates. fa

t is now compulsory for all the ‘political

to have one-third women

parties to hold their

: nisational election. s el .

A -'B*;"_;‘_‘_'i“ﬁﬁlg"’bﬁ for all candidates to d sg‘ Jinformation
about jiédin_g ﬁlinal cases against them i_ﬂj_ aﬁiggvit. s

Options: ; . |

(A)  Only I, Il'and/III are correct.

(B)  Only I, ITand IV:are correct,.
(©)  Only I, IIT and IV are corre
(D) _ Only I, 11T and IV are correct,

. Which of the following statements represent gender equality ?

\ ¥ &t\.‘ ’ . ':‘F e g,.:.h g
A)= The value of women’s vote is more than'that of men.
(B) Restr icting women to household ch'o, es.
() Providing more rights to men.

(D) Providing voting rights equally.to'm

Choose the correct matched pair rom the JF&J“_'M',MF':;;}'
(A)  ConcurrentTist — Education

el and women

.Concurrent List — Defence
Concurrent List — Police
ofs r;-ent List — Trade

! SO
L' o 42 .
e XS

_“ which' one e of the following grg's_. of India are women t
Advantage of reservation?

(A)  Municipality
' Rajya Sabha (D) Judiciary

Which one of the followin g lan a"is included in the Eighth Schea
of the Indian Constitution?.. . i

B) Legislative Council

:l

Bhojpur *’di Magadhi

4@! Tamil

najasthani
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i | ow is the dlstnbutlomﬁf
; r.democracy ? Explain

Explam any two benefits Lj_ rlobs
" Mention any two economicimpactsic ﬁg‘\m H’*'JL
(a) Descnb \-\‘/‘\gtk)awgn;\_‘_} ﬂi in d'soils”

; World War on In -,

(b)  Describe any two features of tforest soils’. 2
SECTION C L

(Short An swer Type Questions) - (6x3=15)

id -

Explam any three “uh orJa ii Jeevan . \,,

esta .hu..'m accounts ble respons1ble and legltuna

Indian freedom

t the 1mpacts of Gandhi-Irwin pact on the

e

Analyse the role of Allun Sitaram RaJu in the Indian National

J‘ Tovement. (s Dol

(JC

,:}. amine the 1mportance of b ink deposits

4.- lamthemamf -m" Slor'the: Indian fec
; SECTIOND

: t;f}p:ng'. m.

he contribution of Johann Gutenberg in the deve opment
< IR Sl

S

,,':

B8l lish the gender equality of

32/3/3



(b)  Suppose
will you

8. (a)  Describe the features of Cropping patterns in India. Z

OR
(b) Describe 1110

I main characteristics of major millet crops grown in
ndia. Rl | ' '

U 342=5

SECTION E
(Case/Source-Based Questions) (3x4=12)

#4.  Read the given source and answer the questions that follow :
Iron Ore

Iron ore is the: basic mineral and the backbone of industrial

e

\ t. India is endowed with fairly abundant resources of iron ore.

ndia'is rich in good quality iron ores. Magnetite is the finest iron ore
with a very high content of iron up to 70 per cent. It has excellent
magnetic qualities, especially valuable in the electrical
Hematite ore is the most important industrial iron ore in terms of the
quantity used, but has a slightly lower iron content than magnetite
(50 — 60 per cent). In 2018 — 19, almost the entire production of iron ore
(97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.

~ The remaining production (3%) was from other state§.

industry.

(341 ) In which iron ore is the maximum iron content found ?
SR T TH Bk oY
‘Which is the most important industrial iron ore ?

s 'Iron ore is a basic mineral.” Support the statement.

1

1

2
Page 17 of 238 } P.T.O. I ,‘
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' 35.

36.
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£ | _
Read the given source and answer the questions that follow :
Organised Sector
gector. Organised sector covers those
the terms of employment are regular
1 r places of work where :
enftie?})lnxs'::o:e ppeople have assured work. They are regls-tered by the
i ;ent ax,l o follow its rules and regulations which are given
go:zr;mm Jaws suc tories Act, Minimum Wages AgtbPaymenc;:
ln - ) N [ . .
' . lishments Act, etc. It is called Organise
of Gratuity Act. Shops and Estab ’ e e of

Gector because it has some formal processes and procedu :
those people may not be employed by anyone but may work on their own, .
butLthe\‘ too have lves with the government and follow

to register themse
the rules and regulations. :

(85.1) Mention any one feature of the wo
i sector.
nefit provided by the employer

(35.2) Explain any one be
organised sector employees.

Kanta works in the organised

rking conditions of organised

s to the

(35.3) Why is it necessary for all self-employéd people to register with the

government ?

urce and answer the questions that follow :

Read the given so
The Revolutionaries

""" During the years following 1815, the fear of repression drove many
liberal-nationalists underground. Secret societies sprang up in many
d spread their ideas. To be

European states to train revolutionaries an
revolutionary at this time meant a commitment to oppose monarchical

at had been established after the Vienna Congress, and to fight

forms th
for Ii.berty and freedom. Most of these revolutionaries also saw the
clre_zxii?lpn;of nation-states as a necessary part of.this struggle for freedom

PN
A%

:1)'Mention any one political demand of the/liberals."
1 i . ‘ +
(36.2) Mention the main cause for the rise of secret societies in European
/4

States.
for many liberal-nationalists going
; £ 2

(36.3) Analysc the  reasons
underground after 1815,

Page19 of 28 pr '.[‘”':'o“’-*"”“



SECTION F
(Map Skill-Based Questions) (2+3=5)

outline map of India (on page 23). Identify them with the help of

the following information and write their correct names on the

i 37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
2x1=2

lines drawn near them :

A.  The place where the session of Indian National Congress was
held place in 1927. _
Madras (Tamil Nadu) |

B. The place where Mahatma Gandhi broke the Salt Law. Dandi, Gujarat |

Note: The following questions are for the Visually Impaired Candidates
‘. only, in lieu of Q. No. 37 (a).

(@) (1) Name the place where the session of Indian National
Congress was held in 1927.

(i) Name the place where Mahatma Gandhi broke the Salt Law. 2x1=2

I) Netaji Subhas Chandra Bose

(b) On the same political outline map of THEEFA"Ibehid and label any
three of the following with suitable symbols : : Ix1=3
The Software Technology Park of India

(i)  Aninternational airport of West Bengal |<7p) iy Bengaluru is located in the
(i) A software technology park of KarnatakaE!ectronic City.
(iii) A nuclear power plant located in Maharashtra [farapur Nuclear Power Plant |

(iv) A major sea port of Odisha

Note : The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (b).
(b) Attempt any three questions. x1=3

(1) Name the place where an international airport is located in
West Bengal.

(i1)  Name the place where a software technology park is located
in Karnataka.

(1) Name the place where a nuclear power plant is located in
Maharashtra. i

(iv) Name the place where a major sea port is located in Odisha.

I 32/3/3 Page 21 of 23 P.T.0. I
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Madras (Tamil Nadu)

Dandi, Gujarat

(I) Netaji Subhas Chandra Bose International Airport 

The Software Technology Park of India (STPI) in Bengaluru is located in the Electronic City.

Tarapur Nuclear Power Plant 

Paradwip port




